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Practice
Proportions =)

)

1. NUTRITION One ounce of cheddar cheese contains 9 grams of fat. Six of the grams of fat
are saturated fats. Find the ratio of saturated fats to total fat in an ounce of cheese.

2. FARMING The ratio of goats to sheep at a university research farm is 4:7.
The number of sheep at the farm iz 28. What is the number of goats?
H:7 4.6
(€T 1 A
3. ART Edward Hopper’s oil on canvas painting Nighthawks has a length of
60 inches and a width of 30 inches. A print of the original has a length of
2.5 inches. What is the width of the print?

Solve each proportion.

5_ 5% _1 G _ 4
43=15 %713 F 6. 57 =3
- x+2 8 s 9x—-5_ -5 ax—~2 =x4+4
Ty T === T =3

Find the measures of the sides of each triangle.

10, The ratio of the measures of the zides of a triangle iz 3:4:6, and its perimeter is 104 feet.
11. The ratio of the measures of the sides of a triangle 13 7:9:12, and its perimeter is 84 inches,

12. The ratio of the measures of the sides of a triangle is 6:7:9, and its perimeter is

77 centimeters. S in e I A Lx +1x+ax =11
a5 315 x=8.5

Find the measures of the angles in each triangle.

1 dvisicn o Tha MeGraveHill Companies, Ine.

13. The ratio of the measures of the angles is 4:5:6.
14. The ratio of the measures of the angles is 5:7:8.

15. BRIDGES The span of the Benjamin Franklin suspension bridge in Philadelphia,
Pennsylvania, is 1750 feet. A model of the bridge has a span of 42 inches. What is the
ratio of the span of the model to the span of the actual Benjamin Franklin Bridge?
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Similar Polygons

Determine whether each pair of figures is similar. Justify your answer. [
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, Triangle [KL is similar to ATUV with a scale factor of% If the lengths of

the sides of ATV are 4, 6,and 8 centzmgtera what are the lengths of the
sides of AJKL? '

3. A triangle has side lengths of 3 meters, 5 meters, and 4 meters. The triangle
is tn}atged so that the larger triangle is similar to the original and the scale
factor is 5. Find the perimeter of the larger triangle. . '

9. A rectangle with length 60 centimeters and height 4(} centimeters is
reduced so that the new rectangle is similar to the original and the scale

factor is l Find the Iength and width of the new rectangle.

&‘ 1Dem| H0O: l\yﬁ_‘g}\j
Sw'\fj\”(\ width




R ] -3 Skills Pradtice.
3.) Quad ABCD ~ Quad EFGH

b) Findx ¢.) INDIcaTED SIDE
HG = ER
be.  AD VG\H =.D
_% » ?q dY Scale Factor

| a2 1L ol
BT e

4-Qz.xywwAurs |
‘ C,-)(?-! and ,‘*J]
b) SU _ 1 d) SF:
WX~ YX ST=| 145 2TV _9_=%2
NEYFY ¥ = 3°°0
XS . 9 | 3V="+5 or L
n 3 [SD=13] 3
3(X+5) = 3b T |
2x+15 = 3
Ax = A\
lX:"\S
5) PARS ~OovwW T L. DALMN ~ATSP
X=95 X =13
WTz0 TS =212, SP=15

SF =3, = « 2/,
/a2 = /3 SFt Y37,



1
B | “ q i |||’%
R | - T
EEEEEEANNNERERREEN
i_l,lll_ - - L | | —
EEENERENERREE ST . I )
[ A D | | mf BN R - Ll ;“Lli_'_l; .
o T e A e e nll [HEEEREN. - 1] | — I
! i , e B ,_ _ , ||l§_ | , T , 3 (S ! , llﬂl —_—
|1v Ji_llim | 1lr||m _ . 7 Jﬂ | | ."I I - iL 1 ' _ .lw| ., .,II 17||..lh| Y S ¢
] T T B s e T sl ol T - (] |
~—= . | LR = k 2N EN i 1= | | —— —
i e f — | XTI <o 34 0] A - Mgk S _ | | T —
T T | SR ER e Ll ™ [ 1 N 1
M= S Ema; || 4 fz\_Jll_ [ B op sl pn g g - T 11 1T T
R T T ESENNSE B B
RS | -Jll.._,‘...- || N i b bl 2] = | - et SN - ] T T
_lnM IsA w el , = ) b4l == B ! | wll T , ,
T T Iml= CRA P | “l e | | R | | ! | == e
= | ] LIehe B T =t | | ] r | _(.,Iifl“ —1— || || =
. s i [ ‘” | : i _ i —— ﬁ . : _ _ i ” ﬂ i L]
T s X | | I [ | A||I > _ ———— , = W 1 1 | | |
S TS - RESENEREEEREN —
Sl BN 1 Cq 1 | - ] L L | | | , , )
W] | T ] B ! | — | T T | =t
o Il | S _ m _ _ | || =~ , _, - i | T:-I',
| .u_ ‘m.JI,ul *, ” _, ? , _ | : _ [ | | | ] m, _ ,. _. ,l | N
b o4 | pes , L I tdt 1 o] , R [N
R A T NN
P | 1 1 N B | — S N | - 1 |
0 | 5 ) 1 4 s — i L I_I\L | + ,I'ill'c
i \._ _ S S ,_;ﬂf - _ ‘_.L ] _ 7 | - 7 7 | i - — ﬁ " f _, _t —~ ;
, " o Y A | R T [+ _ { T f - _ | [ 1 1 —
B IR ER RGN 4 | | I T L ] T |
™ 5 e A I R =TT T TIETE e 1
| ~ | . S S L e - — - — L - 4 F 0 S R - :
,., L T i - , ﬁnx e , | J | I . | N - - ‘ | — “ _ ﬂ, =
- s . IES T | T A4 | -1 , || S | _ 1 |
s aEs L4 | || _ | | 1 11 -— | Fl_| T
B il RN = .W,_ ”, _ o I % S — i of |1 T 11 | ]
T = 1 T S T - S . e - T
| +- | 1 i * | St R 1 _ | _ _, | ﬂ ot gl = || :l,illll_ I
| ‘ L Iﬁ ] A i i * _, , - S , 4|a|.,l! | | CT
i _ |t T g || | | B Rl ] | I -
BAENERS Pl —T e AT T T T T 11
N 3 = TR T HEENEEN 1
ESI e e R T F T
. bt o - = _ et —t— —t
.L,JIJ B T | - o] pafsl | I 4] _ 1 - ,fil |
S | 1 | & . F.v% P !_ . N - ] ! f | ””|I|.,,|
Al RN ;_ T A — W 4_ S . _
,.l ! | { { | e Toomm— | P
g | ! { 1 ”p | ) ] _.\. | I S
g | —— i {4 SN S——
/I _ i { i [ , A — | | i |
. Tl\_ | _ I = m;u. =" — N * | N
,w 4 - - N IR » e | e S |
T T L e 1 e || T
¥ | - { 1 | ] ; __ _ 1
Wm t A 6” | [ | 5 | _ [ V\H . % i A |Wi|v|.l | |
) _ f|_|!|1 ., L % 7 , _ _ W 11
w. o | , rl_, N OSS— , [,I —_— I
1 e | ! |
) | e
m 4 _,,I,I_l .EL»:;,
‘IR




